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OR (3121an)

Describe the main components of an interperter.

FCWSR & Y& "gchl &1 auid o |

8. Define the following terms:
(a) Parsing
(b) Dynamic linking

fr=fafaa < aRafya &
(@) arffT
(@) srzAfie feifeT

OR (3121a1)

Explain the steps involve in booting of computer
in detail.

Hc} i ufspar & wfl 9ol & faar
q AT BN |

9. What do you mean by language processor. 8

What are the main activities in language processing.

O0T6015 18602

2019(0dd) Old Syllabus

Time : 3Hrs. Sem. VI/C.S.E.
Sys. software
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (37274T) (i) U QT AT Sl MUDH HFYSY Bl
STINTedl TRABGIE AR BN 4
gede 3t Irgufa BIaT 2, 98

3T) ST ATFSdAR

Y& Td AYE g T 27 Ea)) Riec wireda”

(¥) 98 TR

(a) TReST wiTedaR

What is pure and impure interpreter?

5. Explain boot strap loader.

(iii) A bottom up parser generators.
qc T ISR I ATET N | (a) Right most derivation in reverse
(b) Right most derivation
(c) Left most derivation in reverse
OR (31274) (d) Left most derivation

(i) UP dlcH 3T YR Icu—~ HYar a—

What is user interface? Describe its components? (@) Rad g1 Wge Ake SRIwH
() Wr3C A SRR
Yok B T 2?7 30D "cH! bl quis (@) Rad 71 dvede sRawq

_ (]) <dve Aiee sRaw+
B |
(iv) A program in execution is called:

(a) Instruction

(b) Function

(c) Process

fRed Aivedax w7 87 (d) Procedure

6. What is system software?
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() fader &1 98 B9 © Sl P HRYE HINT
¥ qifsa uRvmy urg &< & fag shar
2, 98 °o—
(31) wemiRen
() fota arferer
SEIRELNCIEIL)
(2) SWIdd ¥ A BIg -T2f

GROUPB

Answer all Five Questions.

g uig g & SR o

4x5=20

2. Explain assembler design options in brief.

dieX fSuis fAdcy o1 G&T & 9d1v |

0T6015

(vi)

(vii)

(vii)

(viii)

5 18602

Sd 9™ $) ffaw faawor gi-h amfae—
(31) Stop

(d) Return

(|) Op

(?) End

Which of the following in not a function of
the operating system?

(a) Manage resource

(b) Internet access

(c) Provide an user interface

(d) Load and run application

fr=ifafaa & 9 $I9 |1 & e
Rrees &1 7€ 2 |

(31) GaTErE &1 ysy

(@) STHT wad

(|) U& Yok 3B UGN AT

(]) e e dis HRAT SR I

Which of the following system software
resides in main memory always?

(a) Text editor

(b) Assemble

(c) Linker

(d) Loader
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@) facaw gfafia
(@) Rice SRR4CS TR
(?) ®is ifftcargaiz™=

In two-pass compiler the object code is
generated in which phase?

(a) Zeroth pass

(b) One pass

(c) Two pass

(d) Not done by complier

TI—UTg 5k H 3lfsolae s fod
RO § I~ BIdT 27

(31) foRTer urg

(@) v» U

(&) <1 Ut

(]) dHUTSeR gRT <181 fHar <rar =2 |

Type-o grammar are also known as:
(a) Context sensitive grammer

(b) Phase structured grammer

(c) Context free grammer

(d) Regular grammer

O0T6015

x)

(xi)

(xi)

(xii)

7 18602

Sod WRI A19T & fIv oo ol U
39 R gaar 2 iR A= #aefg @
foT dis dIR Bvar 2 |

(31 ICHIZSIT HHIgeR

(¥) T® uta BT

(¥) & HHTgR

(]) AU HHTSAR

The linker:
(a) Is similar to interpreter
(b) Uses source code as its input

(c) Is required to create a load module
(d) None of the above

IGERE

(31) SexUer ST

(@) YT @& ®U H EIid bIs BT ST
AT 2 |

(|) drs Afsgd 991 @ fay smavas

(?) 3% & BIs &l

Macro-processors are................
(a) Hardware

(b) Compiler

(c) Registers

(d) None of the above
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10.

HATST YIAER A 37U 7 G 27 sHa) &
wfafaferat @=ar 27

OR (3121a1)

What is a debugger? Explain some of its facilities

and functionalitics.

f$aR @1 2?7 el §B Yfaaman ik st
3 AT N |

Discuss the design of a two pass assemble.

T—UN R & fusd w® T4t ¥ |

OR (3121an)
What is IDE? Describe its different components.

TS S S T 2?7 SUD I3l Tch
T 2 |
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10.

AT GIAER € 37U RIT FAsd 2?7 SHDI =
wfafaferat aar 22

OR (3121a1)

What is a debugger? Explain some of its facilities

and functionalitics.

SR 1 2?7 e §B Yfaamen i st
D AT N |

Discuss the design of a two pass assemble.

T—UN MR & forsa w® T4t ¥ |

OR (3121an)
What is IDE? Describe its different components.

S S S T 2?7 SUD I3l Tch
2| Al
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